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(I) = ( C ) + ( N )
79306

( P ) = (B/Y) * 100
1.52683 %

(Y) = (T) – (X+Z)
19,32,100

(T)
59,49,000

(X)
24,45,900

(Z)
15,71,000

(A)
17200

(B)
29500

(N) = ((P)/100)*(X)
37344

(I) = ( A) + (B)+ ( N )
84,044

Notes: 
1. (T): Total number of Jews.
2.  (X): Israel  born  Jews whose fathers  were
also born in Israel.
3. (Z):  Israelis born outside Israel.
4. (A): India or Pakistan born Jews in Israel.
5.  (B):  Israel  born  Jews  whose  fathers  were
born either in India or Pakistan. 
6. (P): Proportion of (B) in (Y). P=(B/Y)*100
7.  (N):  Proportion (P) is used to estimate the
number of Indian origin Jews in (X). 
8. (I): Estimated total number of Indian origin
Jews in Israel. 

Estimation of Indian origin Jewish population in Israel.

Source: CBS, Statistical Abstract of Israel, 2013. 




